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AN OIS Y
M Zojo=R EX
el ROl MEOIET A (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 25,562
307 glz2tol & 25,562 21,000 4,562
Al 25,562
11T M SXAISE EX 25,562 21,000 4,562
O HoAXNSAHA22HAH & 25,562
Al 25,562
ESEMQ XSME XA (BEZALY) 120,000 80,000 40,000
Al 120,000
307 21201 A 120,000 80,000 40,000
Al 120,000
10 ALSISEXAIEEE2EHEX 120,000 80,000 40,000
O =T NEdEdH XA 120,000
Al 120,000
ZOHQIEX Al&E 22l 10,340 10,040 300
201 Lt 2| 10,340 10,040 300
02 =24l 10,340 10,040 300
O1. 3323 2 HA 7,900
— &z 350,000 = 12& 4,200
—=E= 150,000 * 6& 900
- JIet2=23 (&8s ) 1,000
— 52| AEEH =3 150,000 * 128 1,800
O 3. A& ZHIsXHl 2,440
—AN&EE & |AlH 1,000
— RoFHAAE 2] 120,000 * 128 1,440
2HT FHASNZ 2F(SEALY) 997,376 790,000 207,376
Al 997,376
307 glz2+ol & 997,376 790,000 207,376
Al 997,376
10 ALSISXAIEEE 22X 997,376 790,000 207,376
O =Z2 Fa=X2t rAd| 871,800
Al 871,800
O =g3 FjeI=X2 24| 88,176
Al 88,176
O =83 Zu=X2 == 234l 35,400
Al 35,400
O =g3 ZHe=2X2 =X+ 2,000
Al 2,000
ZOHQ MNATHEAE JIISsEBELAL(EXAY) 8,000 0 8,000
= 4,000
Al 4,000
402 QI2H X201 M 8,000 0 8,000
= 4,000
Al 4,000




AN =D
Hu: yojor=x S
ol FONQl MEOIEH & (B9 ®R)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 8,000 0 8,000
O HOHY XYATHBAL JSSSALY 8,000
= 4,000
Al 4,000
EER = DR 32,200,473 30,787,279 1,413,194
=2 17,045,812
Al 11,213,416
- 3,941,245
sS4 2 IR0t N2 3 32,200,473 30,787,279 1,413,194
=2 17,045,812
Al 11,213,416
T 3,941,245
oelold 2¢ XA 316,960 310,479 6,481
201 LBt 2,305 1,533 772
01 At 22l 2,305 1,533 772
O 1. getsgH 2,305
~SA0R0IE U DA HE HA S
55,000 = 9K 495
—BSZMA/ FHIES 100,000 * 23| 200
—20218 EFALH S X M E]
23,000 = 70& 1,610
203 R =&t 1,350 1,350 0
03 A F=XH R =AY 1,350 1,350 0
O &4t EKYR AIMFA 1,500,000 = 0.9 1,350
307 21201 A 309,105 302,796 6,309
10 ALSISXAIEEE2GHEX 291,605 285,296 6,309
O oegold tedl X2 25,750
— 80 Ol& A4 500,000 * 8JH £ 4,000
— 409 0l& ~ 79% Oldt AlE
400,000 * 199 2 7,600
— 2198 014 ~ 392 Olat Al&
350,000 * 190 £ 6,650
— 202 Olat A& 300,000 * 25JH & 7,500
O ofgold Hd X 16,050
— 802 Ol& Al 350,000 * 8JH £ 2,800
— 4098 0l& ~ 799 Olat Al&
300,000 * 194 & 5,700
— 2198 0l& ~ 392 Olat Al&
200,000 * 190 £ 3,800
— 20 Olat Ald 150,000 * 25JH 2 3,750
O oeold s4ldl X 178,092
— &Aoo E R0t
255 * 2,91098 = 2402 178,092




SA: pEHED
Bu: BN 2SN
ool 24 Y R0 NALE (SH9: &)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
O olglold sJ21880 gxdlE XA
117,248 » 298LH 34,940
O A& 2 ZOOIE F2IA 228 X
2,210,130 = 48 = 1JHA 8,841
O =0l 0I0El0ld FTLEFAHA 23|
A& 27,932,000 * 1JH 24 27,932
M AMSIMNSEX 17,500 17,500 0
O OlRI0IE *AF ¥3s W2l X
2,000,000 = 12 2,000
O E=0I0tetE tHal XI¥ 11,000,000 = 18 11,000
O Ol2A0lE EFDAA o4H X
10,000 » 450 4,500
308 XXM S0l ™ 4,200 4,800 A600
08 WFI|20NStE = 4,200 4,800 A 600
O MERAE HEH K& 300,000 * 14044 4,200
OElold 2ZHI(AIHIEZALY) 844,079 898,220 Ab4, 141
Al 844,079
307 glztol & 844,079 898,220 A 54,141
Al 844,079
OAMASTANEEI2SHES 844,079 898,220 A54, 141
O 0201 28I (AlBIAY) 844,079
—Z2XNJ0E0E 234 10,800
Al 10,800
— ey dsts & 2dAE X 40,040
Al 40,040
— ZO0OtE 20121018 Xt IIAL Q1A 7,200
Al 7,200
— 20X 0E =22 42,000
Al 42,000
— OO0l Y ZelA2 MHIA 487
Al 487
—dR0XNA0E0E FI2s5+H 51,580
Al 51,580
—ZUS RO AN 2REZ LI 11,800
Al 11,800
—HZHEROUHESVUA E2 2 48,405
Al 48,405
—Z2XN0E0E EFSuM SN+ 25,767
Al 25,767
— 320NN 0E ESUA SX=E 606,000
Al 606,000
PSP AAH XN (EXALY) 5,908,000 5,155,486 752,514
= 3,544,799
Al 1,654,240
- 708,961




2N B
Y B0 SR
el sS4 2 IR0F X235 (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
307 2Iz2to| & 5,908,000 5,155,486 752,514
= 3,544,799
Al 1,654,240
- 708,961
10 MM SAAEEHESIGHEX 5,908,000 5,155,486 752,514
O BExnda oAy 5,908,000
= 3,544,799
Al 1,654,240
5 708,961
BESNXNI MM XN (RAM2LEHINA XIH)( 1,121,175 1,027,015 94,160
SEXAY)
= 672,705
Al 313,929
- 134,541
307 2Iz2to| & 1,121,175 1,027,015 94,160
= 672,705
Al 313,929
- 134,541
11T A EXAIEE X 1,121,175 1,027,015 94,160
O WAIZ22&HNSE XA 1,121,175
= 672,705
Al 313,929
3 134,541
BESNX2 MM XN (U2A01E EX WA X2 )( 980,822 821,089 159,733
SXAY)
= 588,493
Al 274,630
- 117,699
307 2Iz2t0| & 980,822 821,089 159,733
= 588,493
Al 274,630
- 117,699
10 M SXAEEHESIGHEX 980,822 821,089 159,733
O HElold EXWAF 1Ay 980,822
= 588,493
Al 274,630
3 117,699
H2I0ld 29 XN (DML FH X)(BZALY) 32,624 37,495 N4, 871
= 19,574
Al 9,135
- 3,915
307 gizto| A 32,624 37,495 N4, 871
= 19,574
Al 9,135
- 3,915
11T A EXAIEEX 32,624 37,495 N4 871
O elold WMm=2H X& 32,624




2N
X ZH -
L= B

el

ni

!
"1

M 2
oz

A&
aQ

)
2 R0t N2 3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 19,574
Al 9,135
T 3,915
Heold 2% XA (N2 X)) (2X2AY) 12,000 2,632 9,368
= 7,200
Al 3,360
- 1,440
307 gl2tol & 12,000 2,632 9,368
= 7,200
Al 3,360
- 1,440
10 AL SXAIEEE 2 H EX 12,000 2,632 9,368
O HOHOIE =2 OEolE XEF234l 12,000
= 7,200
Al 3,360
- 1,440
ANZ2FHEEMEIA MSXE(2EXAY) 265,180 186,368 78,812
= 132,590
Al 66,295
T 66,295
307 21201 A 265,180 186,368 78,812
= 132,590
Al 66,295
T 66,295
10 ALSISXAIEEE2GHEX 265,180 186,368 78,812
O AMZHESAMEA HSXA 265,180
= 132,590
Al 66,295
- 66,295
HROIEEE XA (0~2H) (B AY) 12,028,710 11,887,196 141,514
= 9,021,533
Al 2,105,024
- 902,153
301 LA F 12,028,710 11,887,196 141,514
= 9,021,533
Al 2,105,024
- 902,153
01 Ml2ZE 6= 12,028,710 11,887,196 141,514
O gwnot2szs XA 12,028,710
= 9,021,533
Al 2,105,024
T 902,153
OI35M FeltE B2 (BEAMY) 4,120,947 4,297,793 A 176,846
Al 4,120,947
301 LEXZ 4,120,947 4,297,793 A 176,846
Al 4,120,947
01 MEIBEZE %05z 4,120,947 4,297,793 A 176,846




2N
X ZH -
L= B

el

ni

!
"1

M 2
oz

A&
aQ

)
2 R0t N2 3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 23~5M Seltd Bz A 4,120,947
Al 4,120,947
LY N (BEZAY) 3,959,759 3,810,541 149,218
=2 2,969,819
Al 692,958
T 296,982
301 LA S 3,959,759 3,810,541 149,218
= 2,969,819
Al 692,958
T 296,982
01 MEIBEE 263 3,959,759 3,810,541 149,218
O oo™ ololsots Jtdeds+d A& 3,959,759
= 2,969,819
Al 692,958
T 296,982
LAY XN (BEXAY) 28,000 30,000 A 2,000
= 14,000
Al 14,000
307 gl2tol & 28,000 30,000 A 2,000
= 14,000
Al 14,000
05 BIZERIE 3 28,000 30,000 A 2,000
O 22usAMd XA 28,000
= 14,000
Al 14,000
SE2UHYHY SY(BEAY) 5,310 4,510 800
2 2,655
Al 1,327
T 1,328
201 Let24E] 5,310 4,510 800
= 2,655
Al 1,327
- 1,328
01 At 2t 2l 5,310 4,510 800
FRILHEH 2 5,310
= 2,655
Al 1,327
- 1,328
HLONRA0R0IN HAUSFE2 U (ZEALY) 588,558 487,384 101,174
Al 588,558
307 21201 A 588,558 487,384 101,174
Al 588,558
10 ALSISXAIEEER2IHEX 588,558 487,384 101,174
O BE0t0 sz & 588,558
Al 588,558
S3EOHS0IE 2YHI(EZAY) 104,407 106, 666 A2,259




SA: pEHED
Y B0 SR
Sl BA Y AR0F XA o
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 62,644
Al 29,234
T 12,529
307 i+l & 104,407 106, 666 A2,259
= 62,644
Al 29,234
T 12,529
10 ALSISXAIEEE2EHEX 104,407 106, 666 A 2,259
O 338 ogold 24 104,407
= 62,644
Al 29,234
- 12,529
SZEH0IE Z2ld AAHEI(AHIE2EAY) 10,800 10,800 0
Al 10,800
307 21201 A 10,800 10,800 0
Al 10,800
10 ALSISXAIEEE2GHEX 10,800 10,800 0
O 3380aoldy =cl& el 10,800
Al 10,800
S&tEd XA 666,050 577,050 89,000
201 £B-2dH| 2,550 2,550 0
01 At 22l 2,550 2,550 0
O 1. dBt=8H| 2,550
—ENTY  ATHY 2R 2,000
—OXEINE 2HIME E2H MA
55,000 = 104 550
301 LeEBAF 655,500 574,500 81,000
01 MI28E +06l= 655,500 574,500 81,000
O EMAE sd&E=2 X
1,000,000 * 350 350,000
O AMAE sd&Ed=2 X
2,000,000 = 504 100,000
O 4mol=E Md s¢&Hds N2
3,000,000 = 7H 21,000
O MAS 0 sdEd Hddzs N
300,000 = 159 4,500
O Ottt S0tF 2 Hed=s X
300,000 » 128 * 509 180,000
405 THabF S| 8,000 0 8,000
01 AL EFH S 8,000 0 8,000
O R 4FLASI| AX(F2UEOMA)
8,000,000 = 1CH 8,000
EMRNAS(BEXZAY) 260,000 298,000 238,000
Al 260,000




SA: pEHED
Hu: B4 FRNE
el sS4 2 IR0F X235 (SH9: &)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
301 et M= 260,000 298,000 A 38,000
Al 260,000
01 M BEEE2G2 260,000 298,000 A 38,000
O EAXE2 K= 260,000
Al 260,000
EMEE IF(EXZAMY) 80,000 102,000 A 22,000
Al 80,000
301 dEtE M= 80,000 102,000 A 22,000
Al 80,000
01 M3 EXEE %62 80,000 102,000 N 22,000
O #FMOoI=XH sdt=zctEE N 80,000
Al 80,000
SIS NAEH 2 (EXAIY) 747,492 663,781 83,711
Al 40,000
- 707,492
307 212t0| & 747,492 663,781 83,711
Al 40,000
- 707,492
05 A2t E 2 747,492 663,781 83,711
O ROIESEXNIHMH &9 747,492
Al 40,000
- 707,492
xSstn Yst=ol=2 N (BXZAY) 100,000 0 100,000
Al 100,000
301 et M= 100,000 0 100,000
Al 100,000
01 M BEEE2G2 100,000 0 100,000
O EMolE IHH =581 dstxsota X 100,000
Al 100,000
OfRIOIE BZEA JIXH XA (BEAL) 19,600 0 19,600
= 9,800
Al 4,900
- 4,900
402 Q12+t X 20| & 19,600 0 19,600
= 9,800
Al 4,900
- 4,900
02 DIZFXIE2AIEEXZ(0IETHE ) 19,600 0 19,600
O elold &4 I XM K& 19,600
= 9,800
Al 4,900
- 4,900
HdotssX S 4,039,814 3,792,428 247,386
= 1,264,324
J| 1,302,766
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M diE=EX 88
Sl IS H =X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 5,500 2,370 3,130
O 1. gBt=2d| 5,000
—E2=5 MA 2,000 = 1,000H 2,000
—HEFSETA =4 HELAS 3,000
O 3. 2g+E 500
—HddS A NST 2A=E 500,000 * 18] 500
301 LEEAZ 900 900 0
12 JIEE 4= 900 900 0
O 5.8.3 NEHZX 8EEsH|
0,000 = 15% = 63l 900
303 Z&f 3 1,600 0 1,600
01 243 1,600 0 1,600
O HEZSTA FAIAH 24 2N AY 1,600
—i®= 500,000 10 2 A 500
— 2= 350,000 * 201 &AM 700
— & 200,000 * 294 2 A 400
SS|0LsH 2 (ETAY) 53,828 43,420 10,408
Jl| 26,914
Al 26,914
307 gl2tol & 53,828 43,420 10,408
J| 26,914
Al 26,914
05 BIZHRI & 3 53,828 43,420 10,408
O 3s|]0UsH 294l 53,828
J| 26,914
Al 26,914
A20E 2 UO2SIHE XNJHH 2I(BEAL) 390,580 230,450 160, 130
J| 195,290
Al 97,645
T 97,645
307 glz2+ol & 390,580 230,450 160, 130
J| 195,290
Al 97,645
T 97,645
05 Rzt &= 390,580 230,450 160, 130
O HLINFURSIIEXNJAHEH 29| 390,580
J| 195,290
Al 97,645
= 97,645
AUYINFOSSNSNRAME SAK SNEUE N 1,100 0 1,100
(2XAEY)
Al 1,100
307 glz2tol & 1,100 0 1,100
Al 1,100




SA: EE=D
d =

M diE=EX 88
Sl IS H =X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 1,100 0 1,100
O ALNJLU23IIESRNJFEEH SAXL SXE
oIE XI& 100,000& * 11 1,100
Al 1,100
22018 2 O2ets N2HH 23 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
05 BIZERIE 3 80,000 80,000 0
O CH23ItE Aty 293l 80,000
SIR0UE 2L (B AY) 15,500 20,009 AN 4,509
J| 7,750
Al 7,750
307 glz2+ol & 15,500 20,009 A 4,509
J| 7,750
Al 7,750
11T MISRASEX 15,500 20,009 A 4,509
O g=a0un=s=2d9 15,500
J| 7,750
Al 7,750
Ch2shots D3 Y2 ALY 8,000 8,000 0
301 LA F 8,000 8,000 0
01 AR 2Z A 53 8,000 8,000 0
O L2sits D242 A Y 8,000
a8 Adh 2B (BEEALY) 123,816 119,710 4,106
J| 61,908
Al 61,908
307 gl2tol & 123,816 119,710 4,106
J| 61,908
Al 61,908
10 AL SXNAIEEE2EHEX 123,816 119,710 4,106
O &= 4Ea 29| 123,816,000 * 1JH 2 123,816
J| 61,908
Al 61,908
IIEEY Mddh 2 XJ (BT AY) 217,873 183,813 34,060
J| 108,937
Al 108,936
307 glz2+ol & 217,873 183,813 34,060
J| 108,937
Al 108,936
10 ALSISXAIEEE 22X 217,873 183,813 34,060
O =8 (sg)ags 29
217,873,000 * 1JH 2 217,873
J| 108,937
Al 108,936

HE Ok A=d, 2 N (E=AY) 600 600 0




SA: EE=D
d =

M HLIEFX A
VPRI (29l 8)
SN HH-S(BN) - MBAY - B dio = HlnE2
Ol & o
p) 720
Al 180
307 212+0 & 600 600 0
9] 420
Al 180
11 AISI S AAISEE = 600 600 0
O d=dIoi &t 2= Hl 600
J| 420
Al 180
SEAMNGL SML SASE(EZAY) 31,780 18,000 13,780
Al 31,780
307 21201 A 31,780 18,000 13,780
Al 31,780
10 ALSISXAIEEE2GHEX 31,780 18,000 13,780
O dZH4EL SML 2X=E 31,780
Al 31,780
IIEEE Dol DEXNSZ2 08 29 (BEXTAY) 10,000 10,000 0
| 7,000
Al 3,000
307 gl2tol & 10,000 10,000 0
J| 7,000
Al 3,000
11 AL S XAEE = 10,000 10,000 0
O IHEZZIoiX ¥ E2 08 ALS I 10,000
| 7,000
Al 3,000
SZ HoiA XN23ds Z208 29 (82X AY) 7,169 4,315 2,854
| 5,018
Al 2,151
307 g2+l & 7,169 4,315 2,854
| 5,018
Al 2,151
11 AISI S XA E = 7,169 4,315 2,854
O 4249 Ilol Akt Xggs 2208 29 7,169
J| 5,018
Al 2,151
ClEENY FAMN TF S (BEANY) 7,000 0 7,000
Al 3,500
- 3,500
201 Let24d] 7,000 0 7,000
Al 3,500
- 3,500
01 At 2teltl 7,000 0 7,000
O =30 g8MAH 2= 24 7,000
Al 3,500




AN OIS Y
B A== EX
Sl G F7 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| - 3,500
Ors0d SHEAS 5,700 5,700 0
307 gl2tol & 5,700 5,700 0
11 ALSI S RALEE = 5,700 5,700 0
O Zeotg| ot Z2EE MY 5,700
—MELAUT 2H 4,000
—eryOtS &E XS S0l 1,700
A5 8225 X3 15,000 15,000 0
301 LEXZ 15,000 15,000 0
01 MEIEBEZE 406z 15,000 15,000 0
O MAS BERIE MEOHEXAD
300,000 = 50 15,000
MOt st220F XNSAIG (BT AIY) 4,500 6,000 A 1,500
Al 4,500
307 gl2tol & 4,500 6,000 21,500
Al 4,500
11T M SRALSE EX 4,500 6,000 21,500
O Mot XA 4,500
Al 4,500
SIRRIIE OFSYEHI(EZALY) 1,105,758 1,055,799 49,959
J| 884,606
Al 221,152
301 LEXZ 1,105,758 1,055,799 49,959
Il 884,606
Al 221,152
01 MEIEBEZE 06z 1,105,758 1,055,799 49,959
O s22IEMHE ¢S4 S XA 1,105,758
J| 884,606
Al 221,152
BIRRItE nEH ¥ S23H XN (EXAY) 95,886 109,665 A 13,779
Al 95,886
301 LA F 95,886 109, 665 A13,779
Al 95,886
01 MEIBE X263 95,886 109,665 A13,779
O s22IE 5 - Dudl DSHXZ 92,441
Al 92,441
O BR2IE =S s34l N 3,445
Al 3,445
SIE2RIIE THH WsHI(BEAY) 4,305 8,867 A 4,562
Al 4,305
301 LEBEAS 4,305 8,867 N4,562
Al 4,305
01 MEIBEE 2053 4,305 8,867 A 4,562




AN OIS Y
B A== EX
Sl G F7 (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O 822I=E I W=l 4,305
Al 4,305
SUNE =HIAAAMG(EZAY) 3,096 3,311 A 215
Al 3,096
301 LA S 3,096 3,311 A 215
Al 3,096
01 Al 2& A =063 3,096 3,311 A 215
O BXIE F=AHANE AN 3,096
Al 3,096
HAESRD NEXE(BEXAY) 6,154 4,349 1,805
J| 4,923
Al 1,231
301 LeHEBAF 6,154 4,349 1,805
J| 4,923
Al 1,231
01 Ml28E 06z 6,154 4,349 1,805
O 3A4ds22 LHEXA 6,154
J| 4,923
Al 1,231
OtolEsE XA (EXAY) 1,806,177 1,835,940 A29,763
= 1,264,324
Al 541,853
307 ©12+0I & 1,806,177 1,835,940 A29,763
= 1,264,324
Al 541,853
11T M Z2XASEEX 1,806,177 1,835,940 N29,763
O otolEs XNEAY 1,806,177
= 1,264,324
Al 541,853
OlolE8 Hatll X2 (BEXAg) 10,192 0 10,192
Al 10,192
307 glztol & 10,192 0 10,192
Al 10,192
11T MISAASEX 10,192 0 10,192
O Ot0l=s Ootdl XNEAY 10,192
Al 10,192
HE2IAZH (OIsEH=) 85,978 125,960 39,982
JlgZul(Oorsg=sa) 85,978 125,960 A 39,982
Jl2Z3H(ot=sd=1t) 85,978 125,960 A 39,982
201 LEt2E | 19,930 23,720 A 3,790
01 At 22l 19,864 23,588 A3,724
O 1. get+=2d| 10,084
—2A2Z JIE228H| 2,000
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0 Mo 02
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BE .G (3) - MY - BES il RS2
—NE2REE 420
S 20,000 » 1& » 128 240
EPNR= PN 15,000 » 1& * 128 180
— SAEX 3,264
- M 20,000 * 1508f A 3,000
B4 30,000 * 62fA 180
- A3 21,000 * 48fA 84
—Dey Ed 250,000 * 4CH = 43 4,000
— ZAESEI EU 200,000 = 1CH * 23] 400
O 5. =&l 8,064
—Ji=Eg=1 xSy
8,000 * 21 * 441 « 123 8,064
O 6. 2x= 1,716
— S A 143,000 » 1CH = 128 1,716
02 ZB2YY| 66 132 66
O 3. AIERHIR I 66
— Dl A MR
5,500 » 1A » 128 66
202 Odl 56,448 97,440 240,992
01 = LH YI 56,448 97,440 A 40,992
O 2 &&0oH
20,000 = 21 * 142 128 « 0.8 56,448
203 ¥ S =&l 4,200 4,800 A 600
04 EMNSSHRF=LHI 4,200 4,800 A 600
O H=d=0 350,000 = 12& 4,200
405 XHoHF S HI 5,400 0 5,400
01 XL 2 ZF S| 5,400 0 5,400
O AMAEHHA 4,700,000 = 14 4,700
O Hd&ED 400,000 = 1CH 400
O dolMd=gH 300,000 * 1CH 300
S(Oorsd=) 50,000 50,000 0
WEHAXS OIS =1 50,000 50,000 0
JISNES 50,000 50,000 0
702 JISEES 50,000 50,000 0
MNI3EES 50,000 50,000 0
O ¥48ds I3 dN&E3 50,000




